Name: Student ID: MO09: Bending Normal Stresses

1. The beam has a rectangular cross section as shown. Determine the largest load P that can be
supported on its overhanging ends so that the bending stress in the beam does not exceed 10

MPa. [ K B 7R e A e 1) e K VF R e 8 P. B2V F 25 it 125 7779 10 MPa. ]
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2. Two considerations have been proposed for the design of a beam. Determine which one will
support a moment of 150 KN . m with smaller maximum bending stress. What is that stress?
By what percentage is it more effective? [y iz 7 9 ol 48 ThT H (W5 —F 7E 150 KN - m
BHHIVE R TR BN RS fIER )y, SKaZ NI ME LN E 7 HE . ]
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3. The wood beam shown has a rectangular cross section. Determine its required dimension b if
the allowable bending stress is 10 MPa. [iR:K B 7R AR 1) 5 /N B 7 i U~ b 132 VF A

TS IE R /708 10 MPa. ]

500 N/m
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4. The beam is subjected to the loading shown. Determine its required cross-sectional
dimension a, if the allowable bending stress for the material is 150 MPa. [i{>R K/ T K2

5/ ol 5 A8 RO @ VRIS T IR 7708 150 MPa. ]

40 kN /m
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